Precalculus
3.1 HW Odd Answers

1. a) (gof)(1)=3 b) 4 3. a)(fog)(4)=97
0 (fog)(0)=1 -2 b) (g0 1)(2)= -2
&) (fof)(6)=—2 -1 0 (f-f)(1)=1
0 (go0)(7)=4 M1 A (9°9)(0)=->
5. a) (f og)(4):1—61 7. @) (fo0)(x)=3x*+1 D: R
b) (geo f)(2):g b) (g f)(x)=9x"+6x+1, D: R
c) (fof)(1)=1
9 (9°9)(0)=17
9. a) (f og)(x):_;fxzi, D: {x|x¢0,—4}
b) (go f)(x):_4);+4, D: {x|x =1,0}
11. g(x)=2x+3, f (x)=x° 13. g(x)=x*, f(x)=5x-2

OR g(x)=5x* f(x)=x-2
15. One-to-One
Inverse: {(5,-2),(3,-1),(7.3),(12,4)}
Domain of function = Range of inverse = {-2,-1,3,4}

Range of function = Domain of inverse = {3,5,7,12}
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17. Not one-to-one A 19. One-to-one
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21. f(g(x))_4(z—2j+8_x—8+8_x 23. £(g(x))=(¥x+8) ~8=x+8-8=x

g(f(x))=3—8+8=3% =x

g(f(x)):4x4+8—2:x+2—2:x



25.

27.

31.

35.

3X+5 5 3X+5 5
(0 (x) = 1-2x | 1-2x (1—2xj_ 3x+5-5(1-2x) _ 3x+5-5+10x 13 _
2(3x+5)+3 2(3X+5)+3 1-2x) 2(3x+5)+3(1-2x) 6x+10+3-6x 13
1-2x 1-2x
(X_Sj (x—S)
3 +5 |3 +5
o(7 ()= 2% +3 | \2x+3 (2x+3):3(x—5)+5(2x+3)=3x—l5+10x+15:l3_x=
1_2(x—5) 1_2(X—5j 2x+3 2x+3-2(x-5)  2x+3-2x+10 13
2x+3 2X+3
f(x)=x—4 29, f(x)=—
3x—2

Domain of f: [0,o0) or {x|x20}
Range of f: [4,00) or {y|y=>4}
Domain of f: [4,00) or {x|x24}

Range of f*: [0,%0) or {y|y >0}
f‘l(x)=(x—2)2+5, X>2 33.

Domain of f: [5,00) or {x|x>5}

Range of f: [2,:0) or {y|y>2}

Domain of f: {x

Range of f: {y
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Domain of f™: [2,00) or {x|x22}

Range of f: [5,00) or {y|y>5}

Domainof f': {x|x==} or (—oo,gju(g,ooj
3 3 3
Range of f: {y y;t}} or L_w,lju(lmj
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d +90.39
Hr(d)="5g
6.97r—90.39+90.39 6.97r
b) r(d(r)= 6.97 “eo7 |

Mj ~90.39 =d +90.39—90.39 = d

d(r(d))=6.97(

c) 56 mph




